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ANSWER ALL QUESTIONS.


1) Evaluate	37/8 +     37/8 ÷ 73/4							(3 mks)
			                51/10 + 29/10	
















2) Four iron rods with lengths 280 cm, 476 cm, 504cm and 420cm are cut up into pieces which are of the same length. What is the greatest possible length for these pieces if there is nothing left over?								(3 mks)














3) Three girls share an amount of money. The eldest gets b/3c of the total amount while the youngest gets b/6c of the total. What fraction does the third girl get?		(3 mks)













4) Express 0.7436 as a fraction in its simplest form.					(3 mks)













5) Mrs. Kamau has exactly sh.700 in her handbag. This money is composed of sh.50 notes and sh.100 notes. If  she has a total of 11 notes, how many notes, of each kid does she have?								(3 mks)












6) On a particular day, the exchange rates at the central bank of Kenya were given as 

UK €1 = Kshs.88.6903
1 indian Rupee = kshs.1.5245

Use the given rates to convert

a) Kshs.5036 into UK€									(2 mks)









b) 7500 Indian Rupees into UK€							(3 mks)












7) A clothes shop offers a discount of 10% on a jacket and a discount of 8% on a shirt. If the Jacket cost 3 times as much as the shirt, what is the overall discount percent given to a customer who buys the two items?							(3 mks) 











8) A rectangular tank is 2.1m by 0.9m by 1.2m.

i) Find the volume of the tank in m3.							(2 mks)










ii) If the density of a liquid is 1.2 tonnes/m3, find the mass of the liquid needed to fill the tank.											(2 mks)












9) A saleslady was paid a monthly salary plus a commission of 8% on goods sold. In one month, she sold goods worth shs.64,000 and her total earnings were shs.23,120.What was her basic salary without commission?						(3 mks)














10) Find the size of each exterior angle of a regular octagon.				(2 mks)









11)   a) Expand the expression (x - 4) (2x - 3)						(1 mk)






b) Without using long multiplication or tables, use the above expansion with an appropriate substitution for x to find the value of 19 x 27.				(2 mk)









12) A man is now three times as old as his daughter. In twelve years time he will be twice as old as his daughter. Find their present ages.						(3 mks)














13) Given that cosθ = 8/10 without using mathematical tables express in fraction form the value of;

a) sin θ											(2 mks)










b) tan (90 - θ)										(1 mk)








14) Solve for x in the equation								(3 mks)

2(3x - 2) x 8x  = 4x+1


















15) Factorize and simplify									(4 mks)

15x2 + 11x – 12
 12x2 + x – 20





















16) An article was sold to a customer for shs.510 after allowing him a 15% discount on the marked price.										(3 mks)

















17) The figure below is a sketch of net of an open box. The dimensions are in centimeters.













a) State the values of a and b.						(2 mks)




b) when the net is folded to form the box, name the points that will correspond with

i) N

ii) Q

iii) R										(3 mks)

c) Calculate the surface area of the box.					(3 mks)











d) Calculate the volume of the box.						(2 mks)




18) From an external point P, the bearings and the distances of points A, B, C and D are as follow:
A(0450. 70m),  B (0600, 90m) , C (0800, 100m) and D (0700, 50m)

i) Using a suitable scale, mark the points A, B, C and D. Join the points A, B, C, and D with straight lines.										(4 mks)



















ii) ABCD represents the map of a piece of land. Find its area in hectares.		(6 mks)


















19) A closed cylindrical tin of radius 1.8 cm as the same volume as closed rectangular tin of length 5cm, width 3cm and depth 2.5 cm;

i) Calculate the height of the cylindrical tin.						(4 mks)















ii) Calculate the surface area of the cylindrical tin.					(3 mks)













iii) Calculate the surface area of the rectangular tin.					(3 mks)










20) In a science experiment, a coil spring is fixed at one end, and different weights are hung from the other end. The length of the spring is measured each time a new weight is hung on it. The measurements are shown in the table belows.

	Weight (g)
	0
	5
	10
	15
	20
	25
	30

	Length of spring (cm)
	30.2
	40.3
	50.1
	59.5
	70.0
	80.4
	90.2



a) Round off the lengths of the spring to the nearest whole number.		(1 mk)









b) On the graph paper provided and using suitable scales, draw the graph of length of spring (y - axis) versus the weight (x – axis)						(3 m

c) Find the lengths of the spring if the weight was 					(3 mks)

     i) 8g

   ii) 26g


  iii) 32g

d) What weight corresponds to							(2 mks)

      i) 38 cm



     ii) 53cm 


e) What is the natural length of the spring?						(1 mk)





[image: ]
21) A Piece of wire can be folded into a rectangle whose dimensions are such that its length is 3cm longer than its width. The area of the rectangle so formed is 28cm2.	

a) Determine

i) The distance of rectangular.							(4 mks)















ii) The perimeter of the rectangle.							(1 mk)





b) The wire can also be folded into a circle. Find the radius of the circle and hence calculate its area.									(5 mks) 
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